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Missing Numerator

Calculate the missing numerators.

252 of = 12.5 4964 of = 372

3693 of = 123 7777 of = 555

4105 of = 328 8968 of = 336 2252 of = 112.5

2457 of = 105 1506 of = 125 2024 of = 50.5

3393 of = 113 7386 of = 123 6488 of = 567

2012 of = 100.5 3225 of = 64.4 6129 of = 340

1315 of = 78.6 9909 of = 110 8757 of = 625

4012 of = 200.5 4015 of = 80.2 3124 of = 78
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Answers

Calculate the missing numerators.

252
1 of = 12.5 4964

3 of = 372

3693
1 of = 123 7777

5 of = 555

4105
4 of = 328 8968

3 of = 336 2252
1 of = 112.5

2457
3 of = 105 1506

5 of = 125 2024
1 of = 50.5

3393
1 of = 113 7386

1 of = 123 6488
7 of = 567

2012
1 of = 100.5 3225

1 of = 64.4 6129
5 of = 340

1315
3 of = 78.6 9909

1 of = 110 8757
5 of = 625

4012
1 of = 200.5 4015

1 of = 80.2 3124
1 of = 78


